Topic 1-1
Translating Verbal Phrases

Common Translation Words

Phrase Qperation
Sum, More than, increased by
Difference, Less than, decreased by
Product, Of, Multiplied by
Quotient '
Twice

Example 1: Transiate the following into algebraic expressions

a) The sum of a number and 5 b) The quotient of a number and 10
¢) The product of 6 and a number d) The difference of a number and 8.
e) %2 of a number f) Twice a number

Turn Around Words

Word Phrase Example
Than Six less than a number
From 10 subtracted from a number

Exampte 2: Circle any turn-around words and then translate the phrase into an algebraic expression

a) 12 more than a nhumber b) 5 less than twice a number

¢) 3 less than 4 times a number €} 11 plus the guotient of a number and 7




The presence of certain phrases in a verbal expression
require the use of PARENTHESES. They are:

1)

2)

3)

Example 3: Translate each of the following using parentheses in the appropriate place,

a) Three times the difference of a number and twelve
b} 5 times the sum of & and b.

c) Twice the difference of a number and 10.




Coord. Alg
Name:

Math Longuage CW
Date;

Identifying Parts and Translating Expressions

1. Identify each term, coefficient, constant, and factor in5x* +3x+12.

2. Write an expression with 4 terms, containing the coefficients 3, 6, and 9.

. _

Translate each verbal expression fo an algebraic expression.

3. Eight more than 3 times a number

4, The difference of 10 and a number -

5. The guotient of 12 and a number

- 6. 151ess than twice a humber

7. Three-fourths times the square of a
number

8. The product of 5 and the cube of a
number increased by the difference of 4
and x

9. Half the sum of x and y decreased by
one-third of y

10. The sum of a number and six, divided
by eight

Translafe each algebraic expression to a verbal expression.

11. 25-x 12, x*-12
2
13, 3+—]x 14, 82-x
2
b6-Xx 16, 25(6+x)




6- X/ T2 X Y18ua| JO SYTINOY 9314} UBY) S53] SIS NNRL § W 6-2/x L2 J3GWNU 3yl sawnl ¢ Ag pasessdul Jaguinu esawnl £ Y
ST-X IT X wu_.__n_ 59wl  ueyy Jadeayd 6% H X2-6 bz ¥ Aq paseaisul Jsquinu e saw £ I
6+%Z 0T X 982 301Mm] UBY) J3P|O SIeBA § o) Xp+¥%L 8 laguinu e jjey ueyissa3jg O

6-X¢ €T X Y)3u3| 3011 UBYL JALIOUS SIAJAW 6 o L-%F 6 Jaquinu e anm) Ag paseanapes N
6- Xt 92 X ainiesadwal ueyl Janoy saausap ST d XL PT JoQLUNU B 3JIM} UBY)LSS3| 6 O
6+X 8T ¥ paads ueyl J8mols puodas Jad sI312W G 4 6-XZ 9f I3quinu e sawiI} ¢ A PaseaLdap 2 s
ST+X £ X 9pNUYE UBY]Y JBYSIY S5 5 1 -4 1 1BquINU BSOWN P UBYLSSA /¢
T+X8/S TI S pue J3QUINU B 331M] JO LUNS 33 SaWI) § M £ § Jagquinu B sawi} € UBYLSSa|E N
{g+x)s 0T Jaquinu e Jo syyss sAl UBYl dIou 7 1 X-¢ &g Jaquinu e sawi} € uey) 210wl g |
+X5 9 g PUe J3qUWINU B SBW) § JO WNS 4} 921m] o) X§ € Jsqunuejopiyisuo y
(B+x%5)z €1 'S pue I3quINU €0 WINS Y3 SN 8 s) 8+XE ZI J20WNU B UBYLSSS € Y
C+Xg T Jaqunu e sawil g Uey} 240w g H €-X 61 Joqunu e Aq paseanapg §

(5+XZ)8 ¥ 8 PUE JBQUINU € }0 LLNs 3y 58l § v 8-Xg ST pguinue uellatow s O
(c+X)g zzZ g Aq paseasou ‘laquunu e sawng g S €+X 8T J2qUnu e sawll § 3

"13MSUE Y3 JO J3CLUNU aY) SUIRIUGD 18U}
X0d 343 Ul 3S1043x3 JeY3 JO JS13] BYL AM “UWN|0I Jamsue BuipuodsaLIod ay) Ll Jamsue JnoA pul pue uossaidxa J1eIqaB|e Ue olul mojaq aselyd yoes Ajejsuel)

8¢

LZ

9t

14

Ve |EC | eC | Te | OC | 6T | BT | LT | 9T

ST

vl

£1

[4

11

0T | 68| £ |9 S | ¥ | € [4

-4V

é[@daeg ayy Jaap Fuidwing deay mo) ay pig Aym

poag

1eq

awen



g AqQ paseasdsp x pue z jo npodd 9y} g S PUE X JO SOURIIPIP D] BMUMY D)
G ueyl ssa) X Ag pajidyipw g g X S8ll} g Uel} sss| § v

(5 - X)z Aq pjuasaadad Bq ued uolssaudxs [eguaa Y2IUM €€

S+ My =1 ( b+ MG =70
S-mp=14g p-MG =1V

&I9p 2y3 Jo Yibus] sy sjussaidal
uoISSaldXa YIIYM ‘M ‘YIpim S1 S3WI b URY) 559|193 § S) ‘7 'yIBUB) S,039p 3U) 1994 06 SI XDOp uspoom Jenbueidas e Jo Jejeswaed By "ZE

n
|
=
A~
il
-t
(a’

L S+MZ=T0D

c-Mg =714 e+ M5 =Y

cuoissaldxs djelgable ue se yibus| ay) 2qLIDSSP BY PINOYS MOH "YIPiM S 30|M] UBL] BJoW § sem 3Bua| ssoym a|fueIdas B Malp WeS *I

It

€T
€T

Z-X%5 °q €T =2+ XS 'g
XG~-¢ D c1=(Z-xX)5 'y

‘uBD1IIY] ST X pue 8Al 40 Jonpo.dd a4y} ueyy ssaf oM :uojenbe dmeigable ue oju) YeISURIL ‘OF

X6—61 a ‘ SI-X6 O
6 6
< ol € SI-% ¥

&6 AQ PapIAIP X urY]) ssaj 5T sjuasaudal uoissaudxa ojeigable UaIym 62



Student Worksheet il

Translate each sifuation into an algebraic equation;

1) Ann has the 5 newest music CD’s which is 3 less than twice the
amount that Bob has,
2) Mike, who has 6 video games, has half as many games as Paul.

3) Nan rode the roller coaster & times, which was twice as many times as
she rode the Ferris wheel.

4) Janine, who bought $15 worth of make-up, spent $6 less than Leah
spent.

5) Rob, who has all 13 girls’ phone numbers that are in his homeroom,
has 3 more than half the number of girls’ phone numbers that Jay has.

6) Kate’s 85 on her English test was 37 points less than twice the grade
on her Science test.

7) At the Middle School Graduation Dance, the DJ played 12 slow
dances, which was equal to the quotient of the number of fast dances
and 2.

8) The 1,840 rock concert tickets sald were twice the amount of jazz

concert tickets sold.

9) Meg received 90 votes for Student Council President, which were 50
less than twice the amount that Tom received.

10) The 347 students who listed soccer as their favorite sport were 13
less than three times the number of students who [isted basketball as
their favorite sport.




Student Worksheet #2

A. Use the information im each problem to fill in the chart or
to label the diagram. Remember to pick a variable for what
you know the least about in the problem.

1. Sean sold 4 more boxes of candy for the school fundraiser than Marta.
The sum of the boxes they sold was 22. How many boxes did each
sell?

WHO NUMBER OF BOXES

2. Ned weighs 1% times as much as Jill and Tom weighs 15 kilograms
more than Jill. If their combined weight is 190 kilograms, how much
does each person weigh?

WHO WEIGHT

3. Gina has $72 in $1 bills, $5 bifls, and $20 bills, If she has three times
as many $1 bills as she has $5 bills, and only half as many $20 bills as
$5 bills, how many of each type of bill does she have?

VALUE OF EACH | TOTAL VALUE
TYPE OF BILL HOW MANY? BILL . OFBILL

4. The basketball teams of North Middle School and South Middle
School played against each other twice this season. In the first game,




North’s score was two-thirds of South’s score, In the second game,
North’s score increased by seven points from the first game while
South’s score decreased by seven points from the first game. In the
second game South’s score was three less than North’s score, what

was the score for each team in both games?

TEAM

FIRST GAME

SECOND GAME

5. The sides of a triangular birdcage are consecutive integers. If the
perimeter is 114 centimeters, what is the length of each side?

AN

B. If you finished and got all of the charts/diagrams correct,
see if you can write an equation to help you solve each
problem. Then solve the equation and answer the problem.




Name Date
Test on Word Problems

COMPLETE ANY 8 OF THE FIRST 10 PROBLEMS. YQU ALSO NEED TO COMPLETE
EITHER 11 OR 12. YOU MAY DO MORE FOR EXTRA CREDIT. BE SURE YOU:

1) Fill in the Chart. 2) Write an equation. 3) Show work to solve equation. 4) Answer the
problem.

1. Find four consecutive integers whose sum is 682. e a s
Consecutive | Algebraic
Integer Representation
First
Second
Third
Fourth

2. I have twice as many nickels as quarters. If the coins are worth $4.90, how many
guarters and nickels do I have? quarters nickels
Cotn Number | Value | Total worth

3. Jack bought a pizza and a drink for $2.65. If the pizza costs a penny more than 3 times
the cost of the drink, how much did each cost? Drink: Pizza:
Type of Food | Cost

4. Find a number that is 15 more than 4 times its opposite. Number:
Number
Opposite

5. Joe weighs 20 lbs. less than twice Jeff’s weight. If Jeff would gain 10 1bs., then together
they would weigh 250 Ibs, How much does each weigh?
Joe: Jeff:

Who |Now |Later




6. Karen is seven years older than Suzanne. Four years ago, Karen was twice as old as

Suzanne was. How old are they now?  Karen:

Who Now | 4 years ago

Suzanne:

7. The sum of the least and greatest of three consecutive integers is 72. What are the three

integers?

Consecutive
Integers

Algebraic
Representation

First

Second

Third

8. The Maryland Monkeys won six less than twice as many soccer games as The
Pennsylvania Pigs. If the teams won a total of 48 games, how many games did each win?

The Pennsylvania Pigs:

The Maryland Monkeys:
Team # of
Games
Maryland
Monkeys
Pennsylvania
Pigs

9. The sum of two consecutive odd integers is negative 28, Find the integers. ,

Consccutive Odd | Algebraic

Integers

Representation

First

Second




